

ERA, 30(3): 830–849. DOI: 10.3934/era.2022044 Received: 18 August 2021 Revised: 27 November 2021 Accepted: 28 November 2021 Published: 01 March 2022

http://www.aimspress.com/journal/era

# Research article

# Multiple solutions for the fourth-order Kirchhoff type problems in $\mathbb{R}^N$ involving concave-convex nonlinearities

# Zijian Wu and Haibo Chen\*

School of Mathematics and Statistics, Central South University, Changsha, Hunan 410083, China

\* Correspondence: Email: math\_chb@163.com; Tel: +1-350-848-0699; Fax: +1-350-848-0699.

**Abstract:** In this paper, we study the multiplicity of solutions for the following fourth-order Kirchhoff type problem involving concave-convex nonlinearities and indefinite weight function

$$\Delta^2 u - \left(a + b \int_{\mathbb{R}^N} |\nabla u|^2 dx\right) \Delta u + V(x)u = \lambda f(x)|u|^{q-2}u + |u|^{p-2}u,$$

where  $u \in H^2(\mathbb{R}^N)(4 < N < 8), \lambda > 0, 1 < q < 2, 4 < p < 2_*(2_* = 2N/(N - 4)), f(x)$  satisfy suitable conditions, and f(x) may change sign in  $\mathbb{R}^N$ . Using Nehari manifold and fibering maps, the existense of multiple solutions is established. Moreover, the existence of sign-changing solution is obtained for  $f(x) \equiv 0$ . Our results generalize some recent results in the literature.

**Keywords:** fourth-order Kirchhoff type problems; multiple solutions; indefinite weight functions; Nehari manifold; fibering maps

#### 1. Introduction and main results

In this paper we study the following fourth-order Kirchhoff type problem:

$$\Delta^2 u - \left(a + b \int_{\mathbb{R}^N} |\nabla u|^2 dx\right) \Delta u + V(x)u = \lambda f(x)|u|^{q-2}u + |u|^{p-2}u,$$
(1.1)

where  $u \in H^2(\mathbb{R}^N)(4 < N < 8)$ ,  $1 < q < 2, 4 < p < 2_*(2_* = 2N/(N - 4))$ . The parameter  $\lambda > 0$ , *a* and *b* are positive constants, the potential function *V* and the weight function *f* satisfy the following conditions:

(V)  $V(x) \in C(\mathbb{R}^N, \mathbb{R}), V_0 := \inf_{\mathbb{R}^N} V(x) > 0$  and there exists a constant  $l_0 > 0$  such that

$$\lim_{|y|\to\infty} meas(\{x\in\mathbb{R}^N||x-y|\le l_0, V(x)\le M\})=0, \quad \forall M>0,$$

where *meas*(·) denotes the Lebesgue measure in  $\mathbb{R}^N$ . (*F*)  $f \in C(\mathbb{R}^N) \cap L^{r_q}(\mathbb{R}^N)$ , where  $r_q = r/(r-q)$  for some  $r \in (2, 2_*)$ .

The general form of (1.1) can be written as

$$\Delta^2 u - \left(a + b \int_{\mathbb{R}^N} |\nabla u|^2 dx\right) \Delta u + V(x)u = g(x, u), \tag{1.2}$$

where  $u \in H^2(\mathbb{R}^N)$ , *a* and *b* are positive constants,  $V(x) : \mathbb{R}^N \to \mathbb{R}$  is a continuous potential. Different forms of the nonlinearity g(x, u) will lead to different difficulties, such as the existence of critical sequence in sublinear case, the boundedness of critical sequence in superlinear case or the compactness in critical case. The nonlinearity g(x, u) is superlinear, sublinear and critical growth, which has been widely studied by many scholars, see [1–3] and their references therein.

Let V(x) = 0, replace  $\mathbb{R}^N$  by a smooth bounded domain  $\Omega \subset \mathbb{R}^N$  and set  $u = \nabla u = 0$  on  $\partial \Omega$ , the problem (1.2) is reduced to the following fourth-order Kirchhoff type problem:

$$\begin{cases} \Delta^2 u - \left(a + b \int_{\Omega} |\nabla u|^2 dx\right) \Delta u = g(x, u), & \text{in } \Omega, \\ u = \nabla u = 0, & \text{on } \partial\Omega, \end{cases}$$
(1.3)

which is related to the following stationary analogue of the Kirchhoff type problem:

$$u_{tt} + \Delta^2 u - \left(a + b \int_{\Omega} |\nabla u|^2 dx\right) \Delta u = g(x, u), \quad \text{in } \Omega, \tag{1.4}$$

where  $\Delta^2$  is the biharmonic operator. In low dimensions, (1.4) is often used to describe the phenomenon of nonlinear vibration of beam or plate in physics and engineering (see [4,5]). Because of the existence of integral term  $\int_{\Omega} |\nabla u|^2 dx$ , this kind of problem is nonlocal, which indicates that Eq (1.4) is no longer pointwise identity. This phenomenon has caused some difficulties for mathematical research, so it has attracted the attention of a large number of scholars.

Here we focus on g(x, u) with concave-convex nonlinearities. Semilinear elliptic equations with concave-convex nonlinearities in bounded domains are extensively researched. Ambrosetti et al. [6], for example, considered the following equation:

$$\begin{cases} -\Delta u = \lambda u^{q-1} + u^{p-1}, & \text{in } \Omega, \\ u > 0, & \text{in } \Omega, \\ u = 0, & \text{on } \partial \Omega, \end{cases}$$
(1.5)

where  $\lambda > 0$ ,  $1 < q < 2 < p < 2^* = 2N/(N - 2)$ . They proved that there exists  $\lambda_0 > 0$  such that (1.5) admits at least two positive solutions for all  $\lambda \in (0, \lambda_0)$  and has one positive solution for  $\lambda = \lambda_0$  and no positive solution for  $\lambda > \lambda_0$ . Actually, many scholars have also obtained this result in the unit ball  $B^N(0; 1)$ , see [7–9]. In addition, Chen, Kuo and Wu [10] investigated the following Kirchhoff type problem:

$$\begin{cases} -(a+b\int_{\Omega}|\nabla u|^{2}dx)\Delta u = \lambda f(x)|u|^{q-2}u + g(x)|u|^{p-2}u, & \text{in }\Omega, \\ u = 0, & \text{on }\partial\Omega, \end{cases}$$
(1.6)

where  $a, b > 0, 1 < q < 2 < p < 2^*$  and  $f, g \in C(\overline{\Omega})$  are sign-changing weight functions. Using the Nehari manifold and fibering maps, the authors examined the existence of multiple positive solutions

for three cases: p > 4, p = 4 and p < 4 when b and  $\lambda$  belong to specific intervals. For more results of problems involving concave-convex nonlinearities and sign-changing weights in bounded domain, the reader may see [11, 12] and the references therein. Furthermore, this kind of question in  $\mathbb{R}^N$  also arouses the scholar's interest. Wu [13] has researched the following equation involving sign-changing weight functions:

$$\begin{cases} -\Delta u + u = a_{\lambda}(x)u^{q-1} + b_{\mu}(x)u^{p-1}, & \text{ in } \mathbb{R}^{N}, \\ u > 0, & \text{ in } \mathbb{R}^{N}, \end{cases}$$
(1.7)

where  $u \in H^1(\mathbb{R}^N)$ ,  $1 < q < 2 < p < 2^*$ , the parameters  $\lambda, \mu > 0$ . He assumed that  $a_{\lambda}(x) = \lambda a_+(x) + a_-(x)$  is sign-changing and  $b_{\mu}(x) = c(x) + \mu d(x)$ , where c(x) and d(x) satisfy appropriate hypotheses, and obtained the multiplicity of positive solutions for the problem (1.7).

Inspired by the above work, the main aim of this paper is to study the Kirchhoff problem (1.1) in  $\mathbb{R}^N$  involving conave-convex nonlinearities and sign-changing weight function. In addition, from the condition (*F*), we can see that *f* is allowed to be sign-changing. As far as we know, there are few articles to deal with the fourth-order Kirchhoff type problem (1.1). We are going to discuss the Nehari manifold and thoroughly check the relation between the Nehari manifold and the fibering maps; then using methods similar to those used in [14], we will prove the existence of two solutions by using Ekeland variational principle [15].

Set

$$\lambda_1 = \left(\frac{p-2}{(p-q)|f|_{r_q}}\right) \left(\frac{2-q}{p-q}\right)^{\frac{2-q}{p-2}} S_p^{\frac{p(2-q)}{2(p-2)}} S_r^{\frac{q}{2}} > 0$$

and  $0 < \lambda_2 = \frac{q}{p-2}\lambda_1 < \lambda_1$ , where  $|f|_{r_q} = \left(\int_{\mathbb{R}^N} |f|^{r_q} dx\right)^{1/r_q}$  and  $S_p$  is described below. Now, we state the main result about the multiciplity of solution of (1.1) in  $\mathbb{R}^N$ .

**Theorem 1.1.** Assume that (V) and (F) hold. If  $\lambda \in (0, \lambda_1)$ , then (1.1) admits at least two nontrivial solutions, one of which has negative energy. Furthermore, if  $\lambda \in (0, \lambda_2)$ , then (1.1) has at least one negative energy ground state solution and one positive energy solution.

**Theorem 1.2.** Assume (V) holds. Then (1.1) has a sign-changing solution for  $f(x) \equiv 0$ .

In Eq (1.1), the unboundedness of the whole space  $\mathbb{R}^N$  leads to no compactness, therefore we consider condition (V) to recover the compactness. The condition (V) was first mentioned by Bartsch and Wang in [11]. At the same time, we also have  $(V_1)$  and  $(V_2)$  conditions in the following remark to repair compactness. Therefore, using  $(V_1)$  or  $(V_2)$  instead of (V) can also get the same result. But the following two conditions are stronger than (V).

**Remark 1.2.** These conditions are usually used to restore compactness.

 $\begin{array}{ll} (V_1) & V(x) \in C(\mathbb{R}^N, \mathbb{R}), V_0 := \inf_{\mathbb{R}^N} V(x) > 0, V(x) \to +\infty \text{ as } |x| \to +\infty \text{ (see [16])}. \\ (V_2) & V(x) \in C(\mathbb{R}^N, \mathbb{R}), V_0 := \inf_{\mathbb{R}^N} V(x) > 0, \text{ for each } M > 0, \ meas(\{x \in \mathbb{R}^N | V(x) \le M\}) < \infty \text{ (see [17])}. \end{array}$ 

This paper is organized as follows. In Section 2, some notations and preliminaries are given, including lemmas that are required in proving the main theorem. In Section 3, we are concerned with the proof of Theorem 1.1. In Section 4, we are concerned with the proof of Theorem 1.2.

## 2. Preliminaries

Define our working space

$$E := \left\{ u \in H^2(\mathbb{R}^N) | \int_{\mathbb{R}^N} (|\Delta u|^2 + |\nabla u|^2 + V(x)u^2) dx < +\infty \right\}$$

with the inner product and norm

$$(u,v) = \int_{\mathbb{R}^N} (\Delta u \Delta v + a \nabla u \nabla v + V(x) u v) dx, \quad ||u||^2 = (u,u).$$

where  $H^2(\mathbb{R}^N)$  is the well known Sololev space.

Throughout this paper, under assumption (*V*), the embedding  $E \hookrightarrow L^r(\mathbb{R}^N)$  is continuous for  $r \in [2, 2_*]$  and compact for  $r \in [2, 2_*)$  [18]. We denote by  $S_r$  the best Sobolev constant for the embedding of *E* in  $L^r(\mathbb{R}^N)$  with  $r \in [2, 2_*)$ . In particular,

$$|u|_r \le S_r^{-1/2} ||u|| \quad \text{for all } u \in E \setminus \{0\},$$

where  $L^r(\mathbb{R}^N)$  is the usual Lebesgue space endowed with the standard norm  $|u|_r = \left(\int_{\mathbb{R}^N} |u|^r dx\right)^{1/r}$  for  $1 \le r < \infty$ .

The energy functional  $I_{\lambda}$  we consider that corresponds to (1.1) is given by, for each  $u \in E$ ,

$$I_{\lambda}(u) = \frac{1}{2} \int_{\mathbb{R}^{N}} (|\Delta u|^{2} + a|\nabla u|^{2} + V(x)u^{2})dx + \frac{b}{4} (\int_{\mathbb{R}^{N}} |\nabla u|^{2}dx)^{2} - \frac{\lambda}{q} \int_{\mathbb{R}^{N}} f(x)|u|^{q}dx - \frac{1}{p} \int_{\mathbb{R}^{N}} |u|^{p}dx.$$
(2.1)

It is well known that the functional  $I_{\lambda}$  is of class  $C^1$  in E and the solutions of (1.1) are the critical points of energy functional  $I_{\lambda}$  [19] and thus, by taking (V)(F) and using a direct computation, we have

$$\langle I'_{\lambda}(u), v \rangle = \int_{\mathbb{R}^{N}} (\Delta u \Delta v + a \nabla u \nabla v + V(x) u v) dx + b \int_{\mathbb{R}^{N}} |\nabla u|^{2} dx \int_{\mathbb{R}^{N}} \nabla u \nabla v dx - \lambda \int_{\mathbb{R}^{N}} f(x) |u|^{q-2} u v dx - \int_{\mathbb{R}^{N}} |u|^{p-2} u v dx,$$

$$(2.2)$$

for any  $u, v \in E$ , and where  $\langle \cdot, \cdot \rangle$  denotes the usual scalar product in  $H^2(\mathbb{R}^N)$ . Moreover, it is clear that  $\lim_{t\to\infty} I_{\lambda}(tu) = -\infty$  and so  $I_{\lambda}$  is not bounded below on *E*. In order to obtain critical points, we consider the  $I_{\lambda}$  on the Nehari manifold

$$\mathcal{N}_{\lambda} = \{ u \in E \setminus \{0\} | \langle I'_{\lambda}(u), u \rangle = 0 \}.$$

Thus,  $u \in \mathcal{N}_{\lambda}$  if and only if

$$\langle I'_{\lambda}(u), u \rangle = ||u||^2 + b|\nabla u|_2^4 - \lambda \int_{\mathbb{R}^N} f(x)|u|^q dx - \int_{\mathbb{R}^N} |u|^p dx = 0.$$

Moreover,  $N_{\lambda}$  comprises all nontrivial solutions of problem (1.1). And we have the following lemma. Lemma 2.1. *The energy functional*  $I_{\lambda}$  *is coercive and bounded below on*  $N_{\lambda}$ .

Electronic Research Archive

*Proof.* For  $u \in N_{\lambda}$ , by the Hölder and Sobolev inequalities,

$$\begin{split} I_{\lambda}(u) &= I_{\lambda}(u) - \frac{1}{4} \langle I_{\lambda}'(u), u \rangle \\ &= \frac{1}{4} ||u||^{2} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) \int_{\mathbb{R}^{N}} f(x) |u|^{q} dx - \left(\frac{1}{p} - \frac{1}{4}\right) \int_{\mathbb{R}^{N}} |u|^{p} dx \\ &\geq \frac{1}{4} ||u||^{2} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) |f|_{r_{q}} S_{r}^{-\frac{q}{2}} ||u||^{q}. \end{split}$$

This ends the proof due to 1 < q < 2.

Distinctly,  $N_{\lambda}$  is a much smaller set than *E* and so it is simpler to discuss  $I_{\lambda}$  on  $N_{\lambda}$ . The Nehari manifold  $N_{\lambda}$  is closely related to the character of functions of the form  $\varphi_{\lambda,u} : t \to I_{\lambda}(tu)$  for t > 0. Such functions are known as fibering maps, which were studied by Brown and Wu in [20]. If  $u \in E$ , we have

$$\begin{split} \varphi_{\lambda,u}(t) &= I_{\lambda}(tu) = \frac{t^2}{2} ||u||^2 + \frac{b}{4} t^4 |\nabla u|_2^4 - \frac{\lambda}{q} t^q \int_{\mathbb{R}^N} f(x) |u|^q dx - \frac{t^p}{p} \int_{\mathbb{R}^N} |u|^p dx, \\ \varphi_{\lambda,u}'(t) &= t ||u||^2 + b t^3 |\nabla u|_2^4 - \lambda t^{q-1} \int_{\mathbb{R}^N} f(x) |u|^q dx - t^{p-1} \int_{\mathbb{R}^N} |u|^p dx, \\ \varphi_{\lambda,u}''(t) &= ||u||^2 + 3b t^2 |\nabla u|_2^4 - (q-1)\lambda t^{q-2} \int_{\mathbb{R}^N} f(x) |u|^q dx - (p-1)t^{p-2} \int_{\mathbb{R}^N} |u|^p dx. \end{split}$$

Evidently,

$$t\varphi_{\lambda,u}'(t) = \langle I_{\lambda}'(tu), tu \rangle$$

and so, for  $u \in E \setminus \{0\}$  and t > 0,  $\varphi'_{\lambda,u}(t) = 0$  if and only if  $tu \in N_{\lambda}$ , that is, the critical points of  $\varphi_{\lambda,u}$  correspond to points on the Nehari manifold, In particular,  $u \in N_{\lambda}$  if and only if  $\varphi'_{\lambda,u} = 0$ . Thus, it is inartificial to split  $N_{\lambda}$  into three parts [14]:

$$\mathcal{N}_{\lambda}^{+} = \{ u \in \mathcal{N}_{\lambda} | \varphi_{\lambda,u}^{\prime\prime}(1) > 0 \};$$
  
$$\mathcal{N}_{\lambda}^{0} = \{ u \in \mathcal{N}_{\lambda} | \varphi_{\lambda,u}^{\prime\prime}(1) = 0 \};$$
  
$$\mathcal{N}_{\lambda}^{-} = \{ u \in \mathcal{N}_{\lambda} | \varphi_{\lambda,u}^{\prime\prime}(1) < 0 \}.$$

It is easy to see that

$$\varphi_{\lambda,u}^{\prime\prime}(1) = \|u\|^2 + 3b|\nabla u|_2^4 - (q-1)\lambda \int_{\mathbb{R}^N} f(x)|u|^q dx - (p-1) \int_{\mathbb{R}^N} |u|^p dx.$$
(2.3)

Thus, for each  $u \in \mathcal{N}_{\lambda}$ , we have

$$\varphi_{\lambda,u}^{\prime\prime}(1) = \varphi_{\lambda,u}^{\prime\prime}(1) - (p-1)\langle I_{\lambda}^{\prime}(u), u \rangle$$
  
=  $(2-p)||u||^{2} + (4-p)b|\nabla u|_{2}^{4} - (q-p)\lambda \int_{\mathbb{R}^{N}} f(x)|u|^{q} dx$  (2.4)

and

$$\varphi_{\lambda,u}^{\prime\prime}(1) = \varphi_{\lambda,u}^{\prime\prime}(1) - (q-1)\langle I_{\lambda}^{\prime}(u), u \rangle$$
  
=  $(2-q)||u||^{2} + (4-q)b|\nabla u|_{2}^{4} - (p-q)\int_{\mathbb{R}^{N}}|u|^{p}dx.$  (2.5)

We now derive some basic properties of  $\mathcal{N}_{\lambda}^{+}$ ,  $\mathcal{N}_{\lambda}^{0}$  and  $\mathcal{N}_{\lambda}^{-}$ .

Electronic Research Archive

Volume 30, Issue 3, 830-849.

**Lemma 2.2.** Assume that u is a local minimizer for  $I_{\lambda}$  on  $\mathcal{N}_{\lambda}$  and  $u \notin \mathcal{N}_{\lambda}^{0}$ . Then  $I'_{\lambda}(u) = 0$ .

Proof. The details of the proof can be referred to Brown and Zhang [12].

**Lemma 2.3.** If  $\lambda \in (0, \lambda_1)$ , then  $\mathcal{N}^0_{\lambda} = \emptyset$ .

*Proof.* Suppose the contrary. There exist  $u \in N_{\lambda}$  such that  $\varphi_{\lambda,u}''(1) = 0$ . From (2.5) and the Sobolev inequality, we have

$$\begin{aligned} (2-q)||u||^2 &\leq (2-q)||u||^2 + (4-q)b|\nabla u|_2^4 \\ &= (p-q)\int_{\mathbb{R}^N} |u|^p dx \\ &\leq (p-q)S_p^{-\frac{p}{2}}||u||^p \end{aligned}$$

and so

$$||u|| \ge \left(\frac{(2-q)S_p^{\frac{p}{2}}}{p-q}\right)^{\frac{1}{p-2}}.$$
(2.6)

Similarly, using (2.4) and Hölder and Sobolev inequalities, we have

$$\begin{split} (p-2) \|u\|^2 &\leq (p-2) \|u\|^2 + (p-4)b |\nabla u|_2^4 \\ &= (p-q)\lambda \int_{\mathbb{R}^N} f(x) |u|^q dx \\ &\leq (p-q)\lambda |f|_{r_q} S_r^{-\frac{q}{2}} \|u\|^q \end{split}$$

which implies that

$$\|u\| \le \left(\frac{(p-q)\lambda|f|_{r_q}}{(p-2)S_r^{\frac{q}{2}}}\right)^{\frac{1}{2-q}}.$$
(2.7)

Combining (2.6) and (2.7) we deduce that

$$\lambda \ge \left(\frac{p-2}{(p-q)|f|_{r_q}}\right) \left(\frac{2-q}{p-q}\right)^{\frac{2-q}{p-2}} S_p^{\frac{p(2-q)}{2(p-2)}} S_r^{\frac{q}{2}} = \lambda_1,$$

which is a contradiction. This completes the proof.

**Lemma 2.4.** If  $\lambda \in (0, \lambda_1)$ , then the set  $\mathcal{N}_{\lambda}^-$  is closed in E.

*Proof.* Let  $\{u_n\} \subset \mathcal{N}_{\lambda}^-$  such that  $u_n \to u$  in *E*. In the following we show  $u \in \mathcal{N}_{\lambda}^-$ . In fact, by  $\langle I'_{\lambda}(u_n), u_n \rangle = 0$  and

$$\langle I'_{\lambda}(u_n), u_n \rangle - \langle I'_{\lambda}(u), u \rangle = \langle I'_{\lambda}(u_n) - I'_{\lambda}(u), u \rangle + \langle I'_{\lambda}(u_n), u_n - u \rangle \to 0, \quad \text{as } n \to \infty,$$

we have  $\langle I'_{\lambda}(u), u \rangle = 0$ . So  $u \in \mathcal{N}_{\lambda}$ . For any  $u \in \mathcal{N}_{\lambda}^{-}$ , from (2.5) we have

$$\varphi_{\lambda,u}^{\prime\prime}(1) = (2-q) ||u||^2 + (4-q)b|\nabla u|_2^4 - (p-q) \int_{\mathbb{R}^N} |u|^p dx < 0.$$

Electronic Research Archive

Volume 30, Issue 3, 830–849.

Then by Sobolev inequality, we have

$$\begin{aligned} (2-q)||u||^2 &< (2-q)||u||^2 + (4-q)b|\nabla u|_2^4 \\ &< (p-q)\int_{\mathbb{R}^N}|u|^pdx \\ &\leq (p-q)S_p^{-\frac{p}{2}}||u||^p, \end{aligned}$$

that is,

$$||u|| > \left(\frac{(2-q)S_p^{\frac{p}{2}}}{p-q}\right)^{\frac{1}{p-2}} > 0.$$

Hence  $\mathcal{N}_{\lambda}^{-}$  is bounded away from 0. Obviously, by (2.4), it follows that  $\varphi_{\lambda,u_n}'(1) \to \varphi_{\lambda,u}''(1)$  as  $n \to +\infty$ . From  $\varphi_{\lambda,u_n}''(1) < 0$ , we have  $\varphi_{\lambda,u}''(1) \le 0$ . By Lemma 2.3, for  $\lambda \in (0, \lambda_1)$ ,  $\mathcal{N}_{\lambda}^0 = \emptyset$ , then  $\varphi_{\lambda,u}''(1) < 0$ . Thus we deduce  $u \in \mathcal{N}_{\lambda}^{-}$ . This completes the proof.

In order to obtain a better comprehension of the Nehari manifold and fibering maps, we consider the function  $\psi_b : \mathbb{R}^+ \to \mathbb{R}$  defined by

$$\psi_b(t) = t^{2-q} ||u||^2 + t^{4-q} b |\nabla u|_2^4 - t^{p-q} \int_{\mathbb{R}^N} |u|^p dx, \quad \text{for } t > 0.$$

Clearly  $tu \in \mathcal{N}_{\lambda}$  if and only if  $\psi_b(t) = \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx$ . Moreover,

$$\psi_b'(t) = (2-q)t^{1-q}||u||^2 + (4-q)t^{3-q}b|\nabla u|_2^4 - (p-q)t^{p-q-1}\int_{\mathbb{R}^N} |u|^p dx, \quad \text{for } t > 0,$$

and so it is easy to see that, if  $tu \in N_{\lambda}$ , then  $t^{q-1}\psi'_{b}(t) = \varphi''_{\lambda,u}(t)$ . Hence,  $tu \in N_{\lambda}^{+}$  (or  $tu \in N_{\lambda}^{-}$ ) if and only if  $\psi'_{b}(t) > 0$  (or  $\psi'_{b}(t) < 0$ ). Furthermore, from  $1 < q < 2, 4 < p < 2_{*}, \psi'_{b}(t) = 0$  and  $\psi_{b}(0) = 0$ , we can deduce that there is a unique  $t_{b,max} > 0$  such that  $\psi_{b}(t)$  achieves its maximum at  $t_{b,max}$ , increasing for  $t \in [0, t_{b,max})$  and decreasing for  $t \in (t_{b,max}, +\infty)$  with  $\lim_{t \to +\infty} \psi_{b}(t) = -\infty$ .

The next lemma allows us to assume that  $\mathcal{N}_{\lambda}^+$  and  $\mathcal{N}_{\lambda}^-$  are nonempty under the hypothesis.

**Lemma 2.5.** Suppose that  $\lambda \in (0, \lambda_1)$ ,  $u \in E \setminus \{0\}$ . Then

(i) if  $\lambda \int_{\mathbb{R}^N} f(x) |u|^q dx \leq 0$ , then there is a unique  $t^- > t_{b,max}$  such that  $t^- u \in \mathcal{N}_{\lambda}^-$  and

$$I_{\lambda}(t^{-}u) = \sup_{t\geq 0} I_{\lambda}(tu).$$

(ii) if  $\lambda \int_{\mathbb{R}^N} f(x)|u|^q dx > 0$ , then there are unique  $t^+$  and  $t^-$  with  $0 < t^+ < t_{b,max} < t^-$  such that  $t^+ u \in \mathcal{N}^+_{\lambda}$ ,  $t^- u \in \mathcal{N}^-_{\lambda}$  and

$$I_{\lambda}(t^{+}u) = \inf_{t_{b,max} \ge t \ge 0} I_{\lambda}(tu), \quad I_{\lambda}(t^{-}u) = \sup_{t \ge t_{b,max}} I_{\lambda}(tu).$$

*Proof.* (i) if  $\lambda \int_{\mathbb{R}^N} f(x) |u|^q dx \le 0$ , noting that  $\psi_b(t)$  achieves its maximum at  $t_{b,max}$ , increasing for  $t \in [0, t_{b,max})$  and decreasing for  $t \in (t_{b,max}, +\infty)$  with  $\lim_{t \to \infty} \psi_b(t) = -\infty$ , then there is a unique  $t^- > t_{b,max}$ 

Electronic Research Archive

such that  $\psi_b(t^-) = \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx$ , that is  $t^- u \in \mathcal{N}_{\lambda}$ . Moreover by  $\psi'_b(t) < 0$ , we obtain that  $t^- u \in \mathcal{N}_{\lambda}^-$ . And by

$$\varphi_{\lambda,u}'(t) = \frac{dI_{\lambda}(tu)}{dt} = t^{q-1} \left( \psi_b(t) - \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx \right),$$

we have  $I_{\lambda}(t^{-}u) = \sup_{t \ge 0} I_{\lambda}(tu)$ . (ii) Since b > 0, t > 0, we have

$$\psi_b(t) > \psi_0(t) = t^{2-q} ||u||^2 - t^{p-q} \int_{\mathbb{R}^N} |u|^p dx$$

where  $\psi_0(t) = \psi_b(t)|_{b=0}$ . Clearly,  $\psi_0(t)$  has a unique critical point at  $t_{0,max} = t_{0,max}(u)$ , where

$$t_{0,max} = \left(\frac{(2-q)||u||^2}{(p-q)\int_{\mathbb{R}^N}|u|^pdx}\right)^{\frac{1}{p-2}}.$$

Moreover, by Sobolev inequality, we obtain

$$\begin{split} \psi_{0}(t_{0,max}) &= \left(\frac{(2-q)||u||^{2}}{(p-q)\int_{\mathbb{R}^{N}}|u|^{p}dx}\right)^{\frac{2-q}{p-2}} ||u||^{2} - \left(\frac{(2-q)||u||^{2}}{(p-q)\int_{\mathbb{R}^{N}}|u|^{p}dx}\right)^{\frac{p-q}{p-2}} \int_{\mathbb{R}^{N}}|u|^{p}dx \\ &= ||u||^{q} \left(\frac{||u||^{p}}{\int_{\mathbb{R}^{N}}|u|^{p}dx}\right)^{\frac{2-q}{p-2}} \left(\frac{2-q}{p-q}\right)^{\frac{2-q}{p-2}} \frac{p-2}{p-q} \\ &\ge ||u||^{q} \left(\frac{||u||^{p}}{S_{p}^{-\frac{p}{2}}||u||^{p}}\right)^{\frac{2-q}{p-2}} \left(\frac{2-q}{p-q}\right)^{\frac{2-q}{p-2}} \frac{p-2}{p-q} \\ &= ||u||^{q} \left(\frac{(2-q)S_{p}^{\frac{p}{2}}}{p-q}\right)^{\frac{2-q}{p-2}} \frac{p-2}{p-q} > 0. \end{split}$$

$$(2.8)$$

Thus,  $\psi_b(t_{b,max}) > \psi_0(t_{0,max}) > 0$ .

From  $\lambda \in (0, \lambda_1)$ , (2.8), Hölder and Sobolev inequalities we also have

$$\begin{split} \lambda \int_{\mathbb{R}^{N}} f(x) |u|^{q} dx &\leq \lambda |f|_{r_{q}} S_{r}^{-\frac{q}{2}} ||u||^{q} \\ &< ||u||^{q} \left( \frac{(2-q) S_{p}^{\frac{p}{2}}}{p-q} \right)^{\frac{2-q}{p-2}} \frac{p-2}{p-q} \\ &\leq \psi_{0}(t_{0,max}) < \psi_{b}(t_{b,max}). \end{split}$$
(2.9)

If  $\lambda \int_{\mathbb{R}^N} f(x) |u|^q dx > 0$ . Since (2.9), the equation  $\psi_b(t) = \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx$  has exactly two solutions  $0 < t^+ < t_{b,max} < t^-$  such that

$$\psi_b(t^+) = \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx = \psi_b(t^-)$$

and

$$\psi_b'(t^+) > 0 > \psi_b'(t^-).$$

Electronic Research Archive

Thus, there exist exactly two multiples of u lying in  $N_{\lambda}$ , that is,  $t^+u \in N_{\lambda}^+$  and  $t^-u \in N_{\lambda}^-$ . Finally, by analyzing  $\frac{dI_{\lambda}(tu)}{dt} = t^{q-1} \left( \psi_b(t) - \lambda \int_{\mathbb{R}^N} f(x) |u|^q dx \right)$ ,  $I_{\lambda}(tu)$  is decreasing for  $t \in (0, t^+)$  and increasing for  $t \in (t^+, t_{b,max})$ . Moreover,  $I_{\lambda}(tu)$  is increasing for  $t \in (t_{b,max}, t^-)$  and decreasing for  $t \in (t_{b,max}, +\infty)$ . therefore,

$$I_{\lambda}(t^{+}u) = \inf_{t_{b,max} \ge t \ge 0} I_{\lambda}(tu), \quad I_{\lambda}(t^{-}u) = \sup_{t \ge t_{b,max}} I_{\lambda}(tu),$$

3. Proof of Theorem 1.1

First, we remark that it follows from Lemma 2.3 that

$$\mathcal{N}_{\lambda} = \mathcal{N}_{\lambda}^+ \cup \mathcal{N}_{\lambda}^-$$

for all  $\lambda \in (0, \lambda_1)$ . Furthermore, by Lemma 2.5 it follows that  $N_{\lambda}^+$  and  $N_{\lambda}^-$  are nonempty, and by Lemma 2.1 we may define

$$\alpha_{\lambda} = \inf_{u \in \mathcal{N}_{\lambda}} I_{\lambda}(u); \quad \alpha_{\lambda}^{+} = \inf_{u \in \mathcal{N}_{\lambda}^{+}} I_{\lambda}(u); \quad \alpha_{\lambda}^{-} = \inf_{u \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(u).$$

Then we get the following result.

**Lemma 3.1.** One has the following.

(i) If  $\lambda \in (0, \lambda_1)$ , then one has  $\alpha_{\lambda}^+ < 0$ .

(ii) If  $\lambda \in (0, \lambda_2)$ , then one has  $\alpha_{\lambda}^- > d_0$  for some  $d_0 > 0$ . In particular, for each  $\lambda \in (0, \lambda_2)$ , one has  $\alpha_{\lambda}^+ = \alpha_{\lambda}$ .

*Proof.* (i) Let  $u \in \mathcal{N}_{\lambda}^+$ . By (2.4)

$$(p-2)||u||^{2} + (p-4)b|\nabla u|_{2}^{4} < (p-q)\lambda \int_{\mathbb{R}^{N}} f(x)|u|^{q} dx$$

and so

$$\begin{split} I_{\lambda}(u) &= I_{\lambda}(u) - \frac{1}{p} \langle I'_{\lambda}(u), u \rangle \\ &= \frac{p-2}{2p} ||u||^{2} + \frac{p-4}{4p} b |\nabla u|_{2}^{4} - \frac{p-q}{pq} \lambda \int_{\mathbb{R}^{N}} f(x) |u|^{q} dx \\ &< \frac{p-2}{2p} ||u||^{2} + \frac{p-4}{4p} b |\nabla u|_{2}^{4} - \frac{1}{pq} \left( (p-2) ||u||^{2} + (p-4)b |\nabla u|_{2}^{4} \right) \\ &= \frac{(p-2)(q-2)}{2pq} ||u||^{2} + \frac{(p-4)(q-4)}{4pq} b |\nabla u|_{2}^{4} < 0. \end{split}$$

Therefore,  $\alpha_{\lambda}^{+} < 0$ .

(ii) Let  $u \in \mathcal{N}_{\lambda}^{-}$ . By Lemma 2.4, we have

$$||u|| > \left(\frac{(2-q)S_p^{\frac{p}{2}}}{p-q}\right)^{\frac{1}{p-2}}$$

Electronic Research Archive

Furthermore, by Hölder and Sobolev inequalities, we have

$$\begin{split} I_{\lambda}(u) &= I_{\lambda}(u) - \frac{1}{4} \langle I_{\lambda}'(u), u \rangle \\ &\geq \frac{1}{4} ||u||^{2} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) |f|_{r_{q}} S_{r}^{-\frac{q}{2}} ||u||^{q} \\ &= ||u||^{q} \left(\frac{1}{4} ||u||^{2-q} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) |f|_{r_{q}} S_{r}^{-\frac{q}{2}} \right) \\ &> \left(\frac{(2-q)S_{p}^{\frac{p}{2}}}{p-q}\right)^{\frac{q}{p-2}} \left(\frac{1}{4} \left(\frac{(2-q)S_{p}^{\frac{p}{2}}}{p-q}\right)^{\frac{2-q}{p-2}} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) |f|_{r_{q}} S_{r}^{-\frac{q}{2}} \right) \\ &\geq \left(\frac{(2-q)S_{p}^{\frac{p}{2}}}{p-q}\right)^{\frac{q}{p-2}} \left(\frac{1}{4} \left(\frac{(2-q)S_{p}^{\frac{p}{2}}}{p-q}\right)^{\frac{2-q}{p-2}} - \lambda \left(\frac{p-q}{4q}\right) |f|_{r_{q}} S_{r}^{-\frac{q}{2}} \right) > 0. \end{split}$$

Thus, if  $\lambda \in (0, \lambda_2)$ , then

$$I_{\lambda}(u) > d_0, \quad \forall u \in \mathcal{N}_{\lambda}^-,$$

for some positive constant  $d_0$ . This completes the proof.

From Lemma 2.1 we can obtain the minimizing sequence of the  $I_{\lambda}(u)$  on the Nehari manifold  $\mathcal{N}_{\lambda}$ . To gain a  $(PS)_c$  sequence from the minimizing sequence of the  $I_{\lambda}(u)$  on Nehari manifold  $\mathcal{N}_{\lambda}$ , we require the following three lemmas:

**Lemma 3.2.** If  $\lambda \in (0, \lambda_1)$ , then for every  $u \in N_{\lambda}^+$ , there exist  $\epsilon > 0$  and a differentiable function  $g^+ : B_{\epsilon}(0) \subset E \to \mathbb{R}^+ := (0, +\infty)$  such that

$$g^+(0) = 1, \quad g^+(\omega)(u - \omega) \in \mathcal{N}^+_{\lambda}, \quad \forall \omega \in B_{\epsilon}(0)$$

and

$$\langle (g^+)'(0), v \rangle = \frac{2(u, v) + 4b \int_{\mathbb{R}^N} |\nabla u|^2 dx \int_{\mathbb{R}^N} \nabla u \nabla v dx - q\lambda \int_{\mathbb{R}^N} f(x) |u|^{q-2} uv dx - p \int_{\mathbb{R}^N} |u|^{p-2} uv dx}{\varphi_{\lambda u}''(1)}$$
(3.1)

for all  $v \in E$ . Moreover, if  $0 < C_1 \le ||u|| \le C_2$ , then there exists C > 0 such that

$$|\langle (g^+)'(0), v \rangle| \le C ||v||.$$
 (3.2)

*Proof.* We define  $F : \mathbb{R} \times E \to \mathbb{R}$  by

$$\begin{aligned} F(t,\omega) &= \langle I'_{\lambda}(t(u-\omega)), (u-\omega) \rangle \\ &= t||u-\omega||^2 + t^3 b|\nabla(u-\omega)|_2^4 - \lambda t^{q-1} \int_{\mathbb{R}^N} f(x)|u-\omega|^q dx - t^{p-1} \int_{\mathbb{R}^N} |u-\omega|^p dx, \end{aligned}$$

it is easy to see *F* is differentiable. Since  $F(1,0) = \langle I'_{\lambda}(u), u \rangle = 0$  and  $F_t(1,0) = \varphi''_{\lambda,u}(1) > 0$ , we apply the implicit function theorem at point (1,0) to get the existence of  $\epsilon > 0$  and differentiable function  $g^+ : B_{\epsilon}(0) \to \mathbb{R}^+$  such that  $g^+(0) = 1$  and  $F(g^+(\omega), \omega) = 0$  for  $\forall \omega \in B_{\epsilon}(0)$ . Thus,

$$g^+(\omega)(u-\omega) \in \mathcal{N}_{\lambda}, \quad \forall \omega \in B_{\epsilon}(0).$$

Electronic Research Archive

Volume 30, Issue 3, 830-849.

Next, we show  $g^+(\omega)(u-\omega) \in \mathcal{N}^+_{\lambda}$ ,  $\forall \omega \in B_{\epsilon}(0)$ . By  $u \in \mathcal{N}^+_{\lambda}$  and (2.3), we have

$$||u||^{2} + 3b|\nabla u|_{2}^{4} - (q-1)\lambda \int_{\mathbb{R}^{N}} f(x)|u|^{q} dx - (p-1) \int_{\mathbb{R}^{N}} |u|^{p} dx > 0.$$

Since  $g^+(\omega)(u-\omega)$  is continuous with respect to  $\omega$ , when  $\epsilon$  is small enough, we know for  $\omega \in B_{\epsilon}(0)$ 

$$||g^{+}(\omega)(u-\omega)||^{2} + 3b|\nabla(g^{+}(\omega)(u-\omega))|_{2}^{4} - (q-1)\lambda \int_{\mathbb{R}^{N}} f(x)|g^{+}(\omega)(u-\omega)|^{q}dx - (p-1)\int_{\mathbb{R}^{N}} |g^{+}(\omega)(u-\omega)|^{p}dx > 0$$

Thus,  $g^+(\omega)(u-\omega) \in \mathcal{N}^+_{\lambda}, \forall \omega \in B_{\epsilon}(0).$ 

Also by the differentiability of the implicit function theorem, we know that

$$\langle (g^+)'(0), v \rangle = -\frac{\langle F_\omega(1,0), v \rangle}{F_t(1,0)}$$

Note that

$$-\langle F_{\omega}(1,0),v\rangle = 2(u,v) + 4b \int_{\mathbb{R}^{N}} |\nabla u|^{2} dx \int_{\mathbb{R}^{N}} \nabla u \nabla v dx - q\lambda \int_{\mathbb{R}^{N}} f(x) |u|^{q-2} uv dx - p \int_{\mathbb{R}^{N}} |u|^{p-2} uv dx$$

and  $F_t(1,0) = \varphi_{\lambda,u}''(1)$ . So we prove (3.1).

Moreover, by (3.1),  $0 < C_1 \le ||u|| \le C_2$  and Hölder inequality, we have

$$|\langle (g^+)'(0), v \rangle| \le \frac{\overline{C} ||v||}{\varphi_{\lambda,u}''(1)}$$

for some  $\widetilde{C} > 0$ . Therefore, in order to prove (3.2), we only need to show that  $|\varphi_{\lambda,u}'(1)| > d$  for some d > 0. We argue by contradiction. Assume that there exists a sequence  $\{u_n\} \in \mathcal{N}_{\lambda}^+, C_1 \leq ||u_n|| \leq C_2$ , we have  $\varphi_{\lambda,u_n}'(1) = o_n(1)$ , where  $o_n(1) \to 0$  as  $n \to +\infty$ . Then for  $C_1 \leq ||u_n|| \leq C_2$  by (2.5) and Sobolev inequality, we have

$$\begin{aligned} (2-q) \|u_n\|^2 &\leq (2-q) \|u_n\|^2 + (4-q)b |\nabla u_n|_2^4 \\ &= (p-q) \int_{\mathbb{R}^N} |u_n|^p dx + o_n(1) \\ &\leq (p-q) S_p^{-\frac{p}{2}} \|u_n\|^p + o_n(1) \end{aligned}$$

and so

$$||u_n|| \ge \left(\frac{(2-q)S_p^{\frac{p}{2}}}{p-q}\right)^{\frac{1}{p-2}} + o_n(1).$$
(3.3)

Similarly, using (2.4), Hölder and Sobolev inequalities, we have

$$\begin{aligned} (p-2)||u_n||^2 &\leq (p-2)||u_n||^2 + (p-4)b|\nabla u_n|_2^4 \\ &= (p-q)\lambda \int_{\mathbb{R}^N} f(x)|u_n|^q dx + o_n(1) \\ &\leq (p-q)\lambda |f|_{r_q} S_r^{-\frac{q}{2}} ||u_n||^q + o_n(1) \end{aligned}$$

Electronic Research Archive

which implies

$$\|u_n\| \le \left(\frac{(p-q)\lambda|f|_{r_q}}{(p-2)S_r^{\frac{q}{2}}}\right)^{\frac{1}{2-q}} + o_n(1).$$
(3.4)

Combining (3.3) and (3.4) as  $n \to +\infty$ , we deduce

$$\lambda \ge \left(\frac{p-2}{(p-q)|f|_{r_q}}\right) \left(\frac{2-q}{p-q}\right)^{\frac{2-q}{p-2}} S_p^{\frac{p(2-q)}{2(p-2)}} S_r^{\frac{q}{2}} = \lambda_1,$$

which is a contradiction. Thus if  $0 < C_1 \le ||u|| \le C_2$ , there exists C > 0 such that

$$|\langle (g^+)'(0), v \rangle| \le C ||v||$$

This completes the proof.

Analogously, we establish the following lemma.

**Lemma 3.3.** If  $\lambda \in (0, \lambda_1)$ , then for every  $u \in N_{\lambda}^-$ , there exist  $\epsilon > 0$  and a differentiable function  $g^- : B_{\epsilon}(0) \subset E \to \mathbb{R}^+$  such that

$$g^{-}(0) = 1, \quad g^{-}(\omega)(u - \omega) \in \mathcal{N}_{\lambda}^{-}, \quad \forall \omega \in B_{\epsilon}(0)$$

and

$$\langle (g^{-})'(0), v \rangle = \frac{2(u, v) + 4b \int_{\mathbb{R}^{N}} |\nabla u|^2 dx \int_{\mathbb{R}^{N}} \nabla u \nabla v dx - q\lambda \int_{\mathbb{R}^{N}} f(x) |u|^{q-2} uv dx - p \int_{\mathbb{R}^{N}} |u|^{p-2} uv dx}{\varphi_{\lambda,u}''(1)}$$
(3.5)

for all  $v \in E$ . Moreover, if  $0 < C_1 \le ||u|| \le C_2$ , then there exists C > 0 such that

$$|\langle (g^{-})'(0), v \rangle| \le C ||v||.$$
(3.6)

**Lemma 3.4.** *If*  $\lambda \in (0, \lambda_1)$ *, one has the following:* 

(i) there exists a minimizing sequence  $\{u_n\} \subset \mathcal{N}^+_{\lambda}$  such that

$$I_{\lambda}(u_n) = \alpha_{\lambda}^+ + o_n(1)$$
$$I'_{\lambda}(u_n) = o_n(1);$$

(ii) there exists a minimizing sequence  $\{u_n\} \subset \mathcal{N}_{\lambda}^-$  such that

$$I_{\lambda}(u_n) = \alpha_{\lambda}^- + o_n(1),$$
  
$$I'_{\lambda}(u_n) = o_n(1).$$

*Proof.* (i) By Lemma 2.1 and the Ekeland variational principle on  $N_{\lambda}^{+}$ , there exists a minimizing sequence  $\{u_n\} \subset N_{\lambda}^{+}$  such that

$$\alpha_{\lambda}^{+} \le I_{\lambda}(u_{n}) < \alpha_{\lambda}^{+} + \frac{1}{n}$$
(3.7)

and

$$I_{\lambda}(u_n) \le I_{\lambda}(v) + \frac{1}{n} ||v - u_n|| \quad \text{for each } v \in \mathcal{N}_{\lambda}^+.$$
(3.8)

Electronic Research Archive

Volume 30, Issue 3, 830–849.

And we can show that there exists  $C_1, C_2 > 0$  such that  $0 < C_1 \le ||u_n|| \le C_2$ . Indeed, if not, that is,  $u_n \to 0$  in *E*, then  $I_{\lambda}(u_n)$  would converge to zero, which contradict with  $I_{\lambda}(u_n) \to \alpha_{\lambda}^+ < 0$ . Moreover, by Lemma 2.1 we know that  $I_{\lambda}$  is coercive on  $\mathcal{N}_{\lambda}^+$ ,  $\{u_n\}$  is bounded in  $\mathcal{N}_{\lambda}^+$ .

Now, we show that

$$||I'_{\lambda}(u_n)|| \to 0$$
 as  $n \to \infty$ .

Applying Lemma 3.2 with  $u_n$  to obtain the functions  $g_n^+(\omega) : B_{\epsilon_n}(0) \to \mathbb{R}^+$  for some  $\epsilon_n > 0$ , such that

$$g_n^+(0) = 1, \quad g_n^+(\omega)(u_n - \omega) \in \mathcal{N}_{\lambda}^+, \quad \forall \omega \in B_{\epsilon_n}(0).$$

We choose  $0 < \rho < \epsilon_n$ . Let  $u \in E \setminus \{0\}$  and  $\omega_\rho = \rho u/||u||$ . Since  $g_n^+(\omega_\rho)(u_n - \omega_\rho) \in \mathcal{N}_{\lambda}^+$ , we deduce from (3.8) that

$$\frac{1}{n} [|g_{n}^{+}(\omega_{\rho}) - 1|||u_{n}|| + \rho g_{n}^{+}(\omega_{\rho})] \\
\geq \frac{1}{n} ||g_{n}^{+}(\omega_{\rho})(u_{n} - \omega_{\rho}) - u_{n}|| \\
\geq I_{\lambda}(u_{n}) - I_{\lambda}(g_{n}^{+}(\omega_{\rho})(u_{n} - \omega_{\rho})) \\
= \frac{1}{2} ||u_{n}||^{2} + \frac{b}{4} |\nabla u_{n}|_{2}^{4} - \frac{\lambda}{q} \int_{\mathbb{R}^{N}} f(x)|u_{n}|^{q} dx - \frac{1}{p} \int_{\mathbb{R}^{N}} |u_{n}|^{p} dx \\
- \frac{1}{2} \left(g_{n}^{+}(\omega_{\rho})\right)^{2} ||u_{n} - \omega_{\rho}||^{2} - \frac{b}{4} \left(g_{n}^{+}(\omega_{\rho})\right)^{4} |\nabla (u_{n} - \omega_{\rho})|_{2}^{4} \\
+ \frac{\lambda}{q} \left(g_{n}^{+}(\omega_{\rho})\right)^{q} \int_{\mathbb{R}^{N}} f(x)|u_{n} - \omega_{\rho}|^{q} dx + \frac{1}{p} \left(g_{n}^{+}(\omega_{\rho})\right)^{p} \int_{\mathbb{R}^{N}} |u_{n} - \omega_{\rho}|^{p} dx \\
= - \frac{\left(g_{n}^{+}(\omega_{\rho})\right)^{2} - 1}{2} ||u_{n} - \omega_{\rho}||^{2} - \frac{1}{2} (||u_{n} - \omega_{\rho}||^{2} - ||u_{n}||^{2}) \\
- b \frac{\left(g_{n}^{+}(\omega_{\rho})\right)^{q} - 1}{4} |\nabla (u_{n} - \omega_{\rho})|_{2}^{4} - \frac{b}{4} (|\nabla (u_{n} - \omega_{\rho})|_{2}^{4} - |\nabla u_{n}|_{2}^{4}) \\
+ \lambda \frac{\left(g_{n}^{+}(\omega_{\rho})\right)^{q} - 1}{q} \int_{\mathbb{R}^{N}} f(x)|u_{n} - \omega_{\rho}|^{q} dx + \frac{\lambda}{q} \left(\int_{\mathbb{R}^{N}} f(x)|u_{n} - \omega_{\rho}|^{q} dx - \int_{\mathbb{R}^{N}} f(x)|u_{n}|^{q} dx\right) \\
+ \frac{\left(g_{n}^{+}(\omega_{\rho})\right)^{p} - 1}{p} \int_{\mathbb{R}^{N}} |u_{n} - \omega_{\rho}|^{p} dx + \frac{1}{p} \left(\int_{\mathbb{R}^{N}} |u_{n} - \omega_{\rho}|^{p} dx - \int_{\mathbb{R}^{N}} |u_{n}|^{p} dx\right).$$

Note that

$$\lim_{\rho \to 0^+} \frac{g_n^+(\omega_\rho) - 1}{\rho} = \lim_{\rho \to 0^+} \frac{g_n^+(0 + \rho \frac{u}{\|u\|}) - g_n^+(0)}{\rho} = \langle (g_n^+)'(0), \frac{u}{\|u\|} \rangle.$$

Electronic Research Archive

If we divide the ends of (3.9) by  $\rho$  and let  $\rho \rightarrow 0^+$ , we have

$$\begin{split} &\frac{1}{n} \left[ |\langle (g_n^+)'(0), \frac{u}{||u||} \rangle |||u_n|| + 1 \right] \\ &\geq - \langle (g_n^+)'(0), \frac{u}{||u||} \rangle ||u_n||^2 - \int_{\mathbb{R}^N} \Delta u_n \Delta (-\frac{u}{||u||}) + a \nabla u_n \nabla (-\frac{u}{||u||}) + V(x) u_n (-\frac{u}{||u||}) dx \\ &- b \langle (g_n^+)'(0), \frac{u}{||u||} \rangle ||\nabla u_n|_2^4 - b \int_{\mathbb{R}^N} ||\nabla u_n|^2 dx \int_{\mathbb{R}^N} \nabla u_n \nabla (-\frac{u}{||u||}) dx \\ &+ \lambda \langle (g_n^+)'(0), \frac{u}{||u||} \rangle \int_{\mathbb{R}^N} f(x) |u_n|^q dx + \lambda \int_{\mathbb{R}^N} f(x) |u_n|^{q-2} u_n (-\frac{u}{||u||}) dx \\ &+ \langle (g_n^+)'(0), \frac{u}{||u||} \rangle \int_{\mathbb{R}^N} |u_n|^p dx + \int_{\mathbb{R}^N} |u_n|^{p-2} u_n (-\frac{u}{||u||}) dx \\ &= - \langle (g_n^+)'(0), \frac{u}{||u||} \rangle \Big( ||u_n||^2 + b ||\nabla u_n|_2^4 - \lambda \int_{\mathbb{R}^N} f(x) |u_n|^q dx - \int_{\mathbb{R}^N} |u_n|^p dx \Big) \\ &+ \frac{1}{||u||} \int_{\mathbb{R}^N} (\Delta u_n \Delta u + a \nabla u_n \nabla u + V(x) u_n u) dx + \frac{b}{||u||} \int_{\mathbb{R}^N} ||\nabla u_n|^2 dx \int_{\mathbb{R}^N} \nabla u_n \nabla u dx \\ &- \frac{\lambda}{||u||} \int_{\mathbb{R}^N} f(x) |u_n|^{q-2} u_n u dx - \frac{1}{||u||} \int_{\mathbb{R}^N} |u_n|^{p-2} u_n u dx \\ &= - \langle (g_n^+)'(0), \frac{u}{||u||} \rangle \langle I'_{\lambda}(u_n), u_n \rangle + \frac{1}{||u||} \langle I'_{\lambda}(u_n), u \rangle \end{split}$$

that is,

$$\frac{1}{n}\left[|\langle (g_n^+)'(0), u\rangle|||u_n|| + ||u||\right] \ge \langle I'_{\lambda}(u_n), u\rangle.$$

By the boundedness of  $||u_n||$  and Lemma 3.2, there exists  $\hat{C} > 0$  such that

$$\frac{\hat{C}}{n} \geq \langle I'_{\lambda}(u_n), \frac{u}{\|u\|} \rangle.$$

Hence we have

$$||I'_{\lambda}(u_n)|| = \sup_{u \in E \setminus \{0\}} \frac{\langle I'_{\lambda}(u_n), u \rangle}{||u||} \le \frac{C}{n},$$

that is,  $I'_{\lambda}(u_n) = o(1)$  as  $n \to +\infty$ . This completes the proof of (i). (ii) Similarly, by using Lemma 3.3, we can prove (ii). We will omit detailed proof here.

Now, we establish the existence of a minimum for  $I_{\lambda}$  on  $\mathcal{N}_{\lambda}^+$ .

**Theorem 3.5.** If  $\lambda \in (0, \lambda_1)$ , the functional  $I_{\lambda}$  has a minimizer  $u_0^+$  in  $\mathcal{N}_{\lambda}^+$  and it satisfies  $I_{\lambda}(u_0^+) = \alpha_{\lambda}^+$ . *Proof.* By Lemma 3.4, there exist a minimizing sequence  $\{u_n\} \subset \mathcal{N}_{\lambda}^+$  such that

$$I_{\lambda}(u_n) = \alpha_{\lambda}^+ + o_n(1), \text{ and } I'_{\lambda}(u_n) = o_n(1).$$

Electronic Research Archive

Volume 30, Issue 3, 830-849.

Then by Lemma 2.1 and the compact embedding theorem, there exist a subsequence  $\{u_n\}$  and  $u_0^+ \in E$  such that

$$u_n \rightarrow u_0^+$$
 in  $E$ ,  
 $u_n \rightarrow u_0^+$  in  $L^r(\mathbb{R}^N)$  for  $2 \le r < 2_*$ 

Next we prove  $u_n \to u_0^+$  in *E*. Note that

$$\begin{split} \langle I'_{A}(u_{n}) - I'_{A}(u_{0}^{+}), u_{n} - u_{0}^{+} \rangle &= \langle I'_{A}(u_{n}), u_{n} - u_{0}^{+} \rangle - \langle I'_{A}(u_{0}^{+}), u_{n} - u_{0}^{+} \rangle \\ &= \int_{\mathbb{R}^{N}} \Delta u_{n} \Delta (u_{n} - u_{0}^{+}) + a \nabla u_{n} \nabla (u_{n} - u_{0}^{+}) + V(x) u_{n} (u_{n} - u_{0}^{+}) dx \\ &+ b \int_{\mathbb{R}^{N}} |\nabla u_{n}|^{2} dx \int_{\mathbb{R}^{N}} \nabla u_{n} \nabla (u_{n} - u_{0}^{+}) dx \\ &- \lambda \int_{\mathbb{R}^{N}} f(x) |u_{n}|^{q-2} u_{n} (u_{n} - u_{0}^{+}) dx - \int_{\mathbb{R}^{N}} |u_{n}|^{p-2} u_{n} (u_{n} - u_{0}^{+}) dx \\ &- \int_{\mathbb{R}^{N}} \Delta u_{0}^{+} \Delta (u_{n} - u_{0}^{+}) + a \nabla u_{0}^{+} \nabla (u_{n} - u_{0}^{+}) + V(x) u_{0}^{+} (u_{n} - u_{0}^{+}) dx \\ &- b \int_{\mathbb{R}^{N}} |\nabla u_{0}^{+}|^{2} dx \int_{\mathbb{R}^{N}} \nabla u_{0}^{+} \nabla (u_{n} - u_{0}^{+}) + V(x) u_{0}^{+} (u_{n} - u_{0}^{+}) dx \\ &- b \int_{\mathbb{R}^{N}} |\nabla u_{0}^{+}|^{2} dx \int_{\mathbb{R}^{N}} \nabla u_{0}^{+} \nabla (u_{n} - u_{0}^{+}) dx + \int_{\mathbb{R}^{N}} |u_{0}^{+}|^{p-2} u_{0}^{+} (u_{n} - u_{0}^{+}) dx \\ &= \int_{\mathbb{R}^{N}} |\Delta (u_{n} - u_{0}^{+})|^{2} + a |\nabla (u_{n} - u_{0}^{+})|^{2} + V(x)|u_{n} - u_{0}^{+}|^{2} dx + b \int_{\mathbb{R}^{N}} |\nabla u_{n}|^{2} dx \int_{\mathbb{R}^{N}} |\nabla (u_{n} - u_{0}^{+})|^{2} dx \\ &- b \left(\int_{\mathbb{R}^{N}} |\nabla u_{0}^{+}|^{2} dx - \int_{\mathbb{R}^{N}} |\nabla u_{0}|^{2} dx\right) \int_{\mathbb{R}^{N}} \nabla u_{0}^{+} \nabla (u_{n} - u_{0}^{+}) dx \\ &- \lambda \int_{\mathbb{R}^{N}} f(x)(|u_{n}|^{q-2} u_{n} - |u_{0}^{+}|^{q-2} u_{0}^{+})(u_{n} - u_{0}^{+}) dx - \int_{\mathbb{R}^{N}} |u_{n}|^{p-2} u_{n} - |u_{0}^{+}|^{p-2} u_{0}^{+})(u_{n} - u_{0}^{+}) dx \\ &\geq ||u_{n} - u_{0}^{+}||^{2} - b \left(\int_{\mathbb{R}^{N}} |\nabla u_{0}^{+}|^{2} dx - \int_{\mathbb{R}^{N}} |\nabla u_{n}|^{2} dx\right) \int_{\mathbb{R}^{N}} \nabla u_{0}^{+} \nabla (u_{n} - u_{0}^{+}) dx \\ &- \lambda \int_{\mathbb{R}^{N}} f(x)(|u_{n}|^{q-2} u_{n} - |u_{0}^{+}|^{q-2} u_{0}^{+})(u_{n} - u_{0}^{+}) dx - \int_{\mathbb{R}^{N}} |u_{n}|^{p-2} u_{n} - |u_{0}^{+}|^{p-2} u_{0}^{+})(u_{n} - u_{0}^{+}) dx, \end{cases}$$

then we can deduce that  $||u_n - u_0^+|| \to 0$  as  $n \to \infty$ . Indeed, from the boundedness of  $\{u_n\}$  in *E* and the continuous embedding,  $\{u_n\}$  is bounded in  $L^r(\mathbb{R}^N)$ ,  $r \in [2, 2_*]$ . Using Hölder inequality we see that

$$\begin{split} &|\lambda \int_{\mathbb{R}^{N}} f(x)(|u_{n}|^{q-2}u_{n} - |u_{0}^{+}|^{q-2}u_{0}^{+})(u_{n} - u_{0}^{+})dx| \\ &\leq \lambda \left( \int_{\mathbb{R}^{N}} |f|^{r_{q}} dx \right)^{\frac{1}{r_{q}}} \left( \int_{\mathbb{R}^{N}} ||u_{n}|^{q-2}u_{n} - |u_{0}^{+}|^{q-2}u_{0}^{+}|^{\frac{r}{q}}|u_{n} - u_{0}^{+}|^{\frac{r}{q}} dx \right)^{\frac{q}{r}} \\ &\leq C|f|_{r_{q}}(|u_{n}|^{q-1}_{r} + |u_{0}^{+}|^{q-1}_{r})|u_{n} - u_{0}^{+}|_{r} \to 0, \quad \text{as } n \to \infty, \end{split}$$

where C is a positive constant. Similarly, we obtain

$$|\int_{\mathbb{R}^N} (|u_n|^{p-2}u_n - |u_0^+|^{p-2}u_0^+)(u_n - u_0^+)dx| \to 0, \quad \text{as } n \to \infty.$$

Electronic Research Archive

From

$$b\left(\int_{\mathbb{R}^N} |\nabla u_0^+|^2 dx - \int_{\mathbb{R}^N} |\nabla u_n|^2 dx\right) \int_{\mathbb{R}^N} \nabla u_0^+ \nabla (u_n - u_0^+) dx \to 0, \quad \text{as } n \to \infty,$$

and

$$\langle I'_{\lambda}(u_n) - I'_{\lambda}(u_0^+), u_n - u_0^+ \rangle = \langle I'_{\lambda}(u_n), u_n - u_0^+ \rangle - \langle I'_{\lambda}(u_0^+), u_n - u_0^+ \rangle \to 0, \quad \text{as } n \to \infty,$$

we have  $||u_n - u_0^+|| \to 0$  as  $n \to \infty$ .

In addition, from the proof of Lemma 3.4 we know that there exists  $C_1, C_2 > 0$  such that  $0 < C_1 \le ||u_n|| \le C_2$ , then  $0 < C_1 \le ||u_0^+|| \le C_2$ . Thus  $u_0^+ \ne 0$ .

Next we prove  $u_0^+ \in \mathcal{N}_{\lambda}^+$ . In fact, it follows from (2.4) that

$$\varphi_{\lambda,u_n}^{\prime\prime}(1) \to \varphi_{\lambda,u_0^+}^{\prime\prime}(1), \quad n \to \infty.$$

From  $\varphi_{\lambda,u_n}^{\prime\prime}(1) > 0$ , we have  $\varphi_{\lambda,u_n^+}^{\prime\prime}(1) \ge 0$ . By Lemma 2.3, we know  $\varphi_{\lambda,u_n^+}^{\prime\prime}(1) > 0$ . Thus we deduce

$$u_0^+ \in \mathcal{N}_{\lambda}^+, \quad I_{\lambda}(u_0^+) = \lim_{n \to \infty} I_{\lambda}(u_n) = \inf_{u \in \mathcal{N}_{\lambda}^+} I_{\lambda}(u) = \alpha_{\lambda}^+$$

This completes the proof.

Next, we establish the existence of a minimum for  $I_{\lambda}$  on  $\mathcal{N}_{\lambda}^{-}$ .

**Theorem 3.6.** If  $\lambda \in (0, \lambda_1)$ , the functional  $I_{\lambda}$  has a minimizer  $u_0^-$  in  $\mathcal{N}_{\lambda}^-$  and it satisfies  $I_{\lambda}(u_0^-) = \alpha_{\lambda}^-$ .

*Proof.* By Lemma 3.4, there exist a minimizing sequence  $\{u_n\} \subset \mathcal{N}_{\lambda}^-$  such that

$$I_{\lambda}(u_n) = \alpha_{\lambda}^- + o_n(1)$$
, and  $I'_{\lambda}(u_n) = o_n(1)$ .

Then by Lemma 2.1 and the conpact embedding theorem, there exist a subsequence  $\{u_n\}$  and  $u_0^- \in E$  such that

$$u_n \rightarrow u_0^-$$
 in  $E$ ,  
 $u_n \rightarrow u_0^-$  in  $L^r(\mathbb{R}^N)$  for  $2 \le r < 2_*$ 

In view of the proof of Lemma 3.4 we know that there exists  $C_1, C_2 > 0$  such that  $0 < C_1 \le ||u_n|| \le C_2$ , then  $0 < C_1 \le ||u_0^-|| \le C_2$ . Thus  $u_0^- \ne 0$ . Moreover, in the same way as Theorem 3.5, we still have  $u_n \rightarrow u_0^-$  in *E*. By Lemma 2.4 the set  $\mathcal{N}_{\lambda}^-$  is closed in *E*, we know  $u_0^- \in \mathcal{N}_{\lambda}^-$ . Thus,

$$I_{\lambda}(u_{0}^{-}) = \lim_{n \to \infty} I_{\lambda}(u_{n}) = \inf_{u \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(u) = \alpha_{\lambda}^{-}.$$

This completes the proof.

Now we can give the proof of the main result.

*Proof of Theorem 1.1.* From Theorems 3.5, 3.6 and Lemma 2.2, we know if  $\lambda \in (0, \lambda_1)$ , then Eq (1.1) has at least two solutions  $u_0^-$ ,  $u_0^+$  and  $I_{\lambda}(u_0^+) < 0$ . Since  $u_0^+ \in \mathcal{N}_{\lambda}^+$ ,  $u_0^- \in \mathcal{N}_{\lambda}^-$  and  $\mathcal{N}_{\lambda}^+ \cap \mathcal{N}_{\lambda}^- = \emptyset$ , this implies that  $u_0^+$  and  $u_0^-$  are different. In addition, if  $\lambda \in (0, \lambda_2)$ , by Lemma 3.1 we have  $I_{\lambda}(u_0^+) < 0$  and  $I_{\lambda}(u_0^-) > 0$ , which implies  $\alpha_{\lambda} = \alpha_{\lambda}^+ = I_{\lambda}(u_0^+)$ . So  $u_0^+$  is a ground state solution of Eq (1.1). It completes the proof of Theorem 1.1.

Electronic Research Archive

#### 4. Proof of Theorem 1.2

In this section, we denote  ${}^+u = \max\{u(x), 0\}$  and  ${}^-u = \min\{u(x), 0\}$ , then  $u = {}^+u + {}^-u$ . Define working space

$$\bar{E} = \{ u \in E | \frac{\partial_i u}{\partial x_i} \in H \text{ for } i = 1, 2, \cdots, N \}$$

where  $H = \{u \in H^1(\mathbb{R}^N) | \int_{\mathbb{R}^N} V(x) u^2 dx < +\infty\}$ . Moreover, the functional  $I : \overline{E} \to \mathbb{R}$  by

$$I(u) = \frac{1}{2} \int_{\mathbb{R}^{N}} (|\Delta u|^{2} + a|\nabla u|^{2} + V(x)u^{2})dx + \frac{b}{4} (\int_{\mathbb{R}^{N}} |\nabla u|^{2}dx)^{2} - \frac{1}{p} \int_{\mathbb{R}^{N}} |u|^{p}dx.$$

In order to obtain a sign-changing solution of (1.1), we consider the minimization of the following manifold

$${}^{\pm}\mathcal{N} = \{ u \in \overline{E}, {}^{\pm}u \neq 0 \text{ and } \langle I'(u), {}^{+}u \rangle = \langle I'(u), {}^{-}u \rangle = 0 \}.$$

Define  $\alpha = \inf_{u \in {}^{\pm}N} I(u)$ . Similar to Lemma 2.2, if there exists  $u \in {}^{\pm}N$  such that  $I(u) = \alpha$ , then u is a solution of (1.1).

*Proof of Theorem 1.2.* Without loss of generality, we can assume b = 1. Let  $\{u_n\} \subset^{\pm} N$  be a minimizing sequence of  $\alpha$ . Going if necessary to a subsequence, one has

$$\frac{1}{4}||u_n||^2 + \frac{p-4}{4p}|u_n|_p^p = I(u_n) - \langle I'(u_n), u_n \rangle \le 2\alpha,$$

that is,  $\{u_n\}$  is a bounded sequence of  $\overline{E}$ . Then by the compact embedding theorem, there exist a subsequence  $\{u_n\}$  and  $u \in \overline{E}$  such that

$$u_n \rightharpoonup u, \quad {}^{\pm}u_n \rightharpoonup {}^{\pm}u \quad \text{in } E,$$
$${}^{\pm}u_n \rightarrow {}^{\pm}u \quad \text{in } L^r(\mathbb{R}^N) \text{ for } 2 \le r < 2_*,$$
$$\nabla^{\pm}u_n \rightarrow \nabla^{\pm}u \quad \text{in } L^r(\mathbb{R}^N) \text{ for } 2 \le r < 2_*,$$

as  $n \to \infty$ . We assert that there exists C > 0 such that  $|{}^{\pm}u_n|_p \ge C$ , which implies that  ${}^{\pm}u \ne 0$ . In fact, for any  $u \in {}^{\pm} N$ , there exists C > 0 such that  $|u|_p \ge C$ . Suppose to the contrary that there exists a sequence  $\{u_n\} \subset {}^{\pm} N$  such that  $|u_n|_p \to 0$  as  $n \to \infty$ . From  $\langle I'(u_n), {}^{+}u_n \rangle = 0$ , there holds

$$||^{+}u_{n}||^{2} \leq ||^{+}u_{n}||^{2} + |\nabla u_{n}|_{2}^{2}||\nabla^{+}u_{n}|_{2}^{2} = |^{+}u_{n}|_{p}^{p} \leq C||^{+}u_{n}||^{p}.$$

Therefore, there exists C > 0 such that  $||^+u_n|| \ge C$ . Moreover, it follows from  $|^+u_n|_p \le |u_n|_p \to 0$ and  $\langle I'(u_n), u_n \rangle = 0$  that  $||^+u_n|| \to 0$  as  $n \to \infty$ , which contradicts  $||^+u_n|| \ge C > 0$ . Therefore, there exists C > 0 such that  $|u|_p \ge C$  for any  $u \in \mathcal{N}$ . Similar to the discussion of Lemma 2.5, there exists  $0 < t \le t$  such that  $t^-t^-u + t^+u \in \mathcal{N}$ , which implies that

$$||^{+}u||^{2} + t^{2}|\nabla^{+}u|_{2}^{4} + t^{2}|\nabla^{-}u|_{2}^{2}|\nabla^{+}u|_{2}^{2} = t^{p-2}|^{+}u|_{p}^{p}.$$

Since  $-t \leq t$ , there holds

$${}^{+}t^{p-4}|{}^{+}u|_{p}^{p} \le \frac{1}{{}^{+}t^{2}}||{}^{+}u||^{2} + |\nabla u|_{2}^{2}|\nabla^{+}u|_{2}^{2}.$$

$$(4.1)$$

Electronic Research Archive

Moreover, it follows from  $\{u_n\} \subset^{\pm} \mathcal{N}$  that

$$|^{+}u_{n}|_{p}^{p} = ||^{+}u_{n}||^{2} + |\nabla u_{n}|_{2}^{2}|\nabla^{+}u_{n}|_{2}^{2}$$

and by the weakly lower semicontinuity of norm, one has

$$||^{+}u|_{p}^{p} \ge ||^{+}u||^{2} + |\nabla u|_{2}^{2}|\nabla^{+}u|_{2}^{2}.$$
(4.2)

It follows from (4.1) and (4.2) that

$$(1 - t^{p-4})|^{+}u|_{p}^{p} \ge (1 - \frac{1}{t^{2}})||^{+}u||^{2},$$

which implies  $t \le 1$ . Therefore,  $0 < t \le t \le 1$ . By  $t \le u + t \le 1$ . By  $t = u + t \le N$ , one has

$$\begin{split} \alpha &\leq I(^{-}t^{-}u^{+}t^{+}u^{)} = I(^{-}t^{-}u^{+}t^{+}u^{)} - \frac{1}{4}\langle I'(^{-}t^{-}u^{+}t^{+}u^{)}, ^{-}t^{-}u^{+}t^{+}u^{\rangle} \\ &= \frac{^{+}t^{2}}{4}||^{+}u||^{2} + (\frac{1}{4} - \frac{1}{p})^{+}t^{p}|^{+}u|_{p}^{p} + \frac{^{-}t^{2}}{4}||^{-}u||^{2} + (\frac{1}{4} - \frac{1}{p})^{-}t^{p}|^{-}u|_{p}^{p} \\ &\leq \frac{1}{4}||^{+}u||^{2} + (\frac{1}{4} - \frac{1}{p})|^{+}u|_{p}^{p} + \frac{1}{4}||^{-}u||^{2} + (\frac{1}{4} - \frac{1}{p})|^{-}u|_{p}^{p} \\ &= \frac{1}{4}||u||^{2} + (\frac{1}{4} - \frac{1}{p})|u|_{p}^{p} \leq \lim_{n \to \infty} \inf[\frac{1}{4}||u_{n}||^{2} + (\frac{1}{4} - \frac{1}{p})|u_{n}|_{p}^{p}] \\ &= \lim_{n \to \infty} \inf I(u_{n}) = \alpha, \end{split}$$

which implies that  $t^{+} = t = 1$ ,  $u = u + u \in \mathcal{N}$  and  $I(u) = I(u + u) = \alpha$ . Then, we conclude that u = u + u + u is a sign-changing solution of (1.1). It completes the proof of Theorem 1.2.

#### Acknowledgments

The authors thank the anonymous referees for their valuable suggestions and comments.

#### **Conflict of interest**

The authors declare there is no conflicts of interest.

## References

- 1. M. Ferrara, B. Khademloo, S. Heidarkhani, Multiplicity results for perturbed fourthorder Kirchhoff type elliptic problems, *Appl. Math. Comput.*, **234** (2014), 316–325. https://doi.org/10.1016/j.amc.2014.02.041
- F. Wang, M. Avci, Y. An, Existence of solutions for fourth order elliptic equations of Kirchhoff type, J. Math. Anal. Appl., 409 (2014), 140–146. https://doi.org/10.1016/j.jmaa.2013.07.003
- L. Xu, H. B. Chen, Multiplicity results for fourth order elliptic equations of Kirchhoff-type, *Acta Math. Sci.*, 35 (2015), 1067–1076. https://doi.org/10.1016/S0252-9602(15)30040-0

Electronic Research Archive

- 4. J. M. Ball, Initial boundary value problem for an extensible beam, *J. Math. Anal. Appl.*, **42** (1973), 61–90. https://doi.org/10.1016/0022-247X(73)90121-2
- 5. H. M. Berger, A new approach to the analysis of large deflections of plates, *J. Appl. Mech.*, **22** (1955), 465–472. https://doi.org/10.1115/1.4011138
- 6. A. Ambrosetti, H. Brezis, G. Cerami, Combined effects of concave and convex nonlinearities in some elliptic problems, *J. Funct. Anal.*, **122** (1994), 519–543. https://doi.org/10.1006/jfan.1994.1078
- L. Damascelli, M. Grossi, F. Pacella, Qualitative properties of positive solutions of semilinear elliptic equations in symmetric domains via the maximum principle, *Ann. Inst. H. Poincaré Anal. Non Linéaire*, 16 (1999), 631–652. https://doi.org/10.1016/S0294-1449(99)80030-4
- 8. P. Korman, On uniqueness of positive solutions for a class of semilinear equations, *Discrete Contin. Dyn. Syst.*, **8** (2002), 865–871. https://doi.org/10.3934/dcds.2002.8.865
- 9. T. Ouyang, J. Shi, Exact multiplicity of positive solutions for a class of semilinear problem II, *J. Differ. Equ.*, **158** (1999), 94–151. https://doi.org/10.1016/S0022-0396(99)80020-5
- C. Y. Chen, Y. C. Kuo, T. F. Wu, The Nehari manifold for a Kirchhoff type problem involving sign-changing weight functions, *J. Differ. Equ.*, 250 (2011), 1876–1908. https://doi.org/10.1016/j.jde.2010.11.017
- 11. T. Bartsch, Z. Q. Wang, Existence and multiple results for some superlinear elliptic problems on  $\mathbb{R}^N$ , *Commun. Partial Differ. Equ.*, **20** (1995), 1725–1741. https://doi.org/10.1080/03605309508821149
- K. J. Brown, Y. Zhang, The Nehari manifold for a semilinear elliptic equation with a sign-changing weight function, J. Differ. Equ., 193 (2003), 481–499. https://doi.org/10.1016/S0022-0396(03)00121-9
- 13. T. F. Wu, Multiple positive solutions for a class of concave-convex elliptic problems in  $\mathbb{R}^N$  involving sign-changing weight, *J. Funct. Anal.*, **258** (2010), 99–131. https://doi.org/10.1016/j.jfa.2009.08.005
- G. Tarantello, On nonhomogeneous elliptic equations involving critical Sobolev exponent, Ann. Inst. H. Poincaré Anal. Non Linéaire, 9 (1992), 281–304. https://doi.org/10.1016/S0294-1449(16)30238-4
- 15. I. Ekeland, On the variational principle, *J. Math. Anal. Appl.*, **47** (1974), 324–353. https://doi.org/10.1016/0022-247X(74)90025-0
- 16. X. M. He, W. M. Zou, Existence and concentration behavior of positive solutions for a Kirchhoff equation in ℝ<sup>3</sup>, *J. Differ. Equ.*, **252** (2012), 1813–1834. https://doi.org/10.1016/j.jde.2011.08.035
- S. J. Chen, L. Li, Multiple solutions for the nonhomogeneous Kirchhoff equation on ℝ<sup>N</sup>, Nonlinear Anal. Real Word Appl., 14 (2013), 1477–1486. https://doi.org/10.1016/j.nonrwa.2012.10.010
- W. Zhang, X. H. Tang, J. Zhang, Infinitely many solutions for fourth-order elliptic equations with sign-changing potential, *Taiwanese J. Math.*, 18 (2014), 645–659. https://doi.org/10.11650/tjm.18.2014.3584
- 19. M. Willem, *Minimax Theorems*, Birkhäuser, Berlin, 1996. https://doi.org/10.1007/978-1-4612-4146-1

- 20. K. J. Brown, T. F. Wu, A fibering map approach to a semilinear elliptic boundary value problem, *Electron. J. Differ. Equ.*, **2007** (2007), 1–9. https://doi.org/10.1007/978-88-470-0665-2\_19
- 21. G. Carboni, D. Mugnai, On some fractional equations with convex-concave and logistic-type nonlinearities, *J. Differ. Equ.*, **262** (2017), 2393–2413. https://doi.org/10.1016/j.jde.2016.10.045
- 22. K. Silva, A. Macedo, Local minimizers over the Nehari manifold for a class of concaveconvex problems with sign changing nonlinearity, *J. Differ. Equ.*, **265** (2018), 1894–1921. https://doi.org/10.1016/j.jde.2018.04.018
- 23. J. T. Sun, T. F. Wu, Ground state solutions for an indefinite Kirchhoff type problem with steep potential well, *J. Differ. Equ.*, **256** (2014), 1771–1792. https://doi.org/10.1016/j.jde.2013.12.006
- 24. W. H. Xie, H. B. Chen, Infinitely many bound state solutions for Kirchhoff type problems, *Appl. Math. Lett.*, **93** (2019), 1–7. https://doi.org/10.1016/j.aml.2019.01.020



© 2022 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)